BERNAI

MEASUREMENTS
Blanket: Approx 45%>" x 54"[115.5 x 137 cm]
Motif: Approx 8'2"[21.5 cm] square.

MATERIALS

- Contrast A (53041 Clay)

Contrast B (07407 Winter White)

| Contrast C (53223 Grass)

Contrast D (08879 Sky)

- Contrast E (53609 Bronze)

Contrast F (07421 Black)

Bernat® Super Value™ (197 g/7 oz; 389 m/426 yds)

2 balls

2 balls

1 ball

1 ball

1 ball

1 ball

obtain gauge.

Size 5.5 mm (U.S. | or 9) crochet hook or size needed to

Bernat®
P.O. Box 40, Listowel ON N4W 3H3

“home style... life style... your style”

Supervalue

GAUGE: 12 dcand 6 rows =4"[10 cm].

ABBREVIATIONS
www.bernat.com/abbreviations

Approx = Approximately. Sc = Single crochet.

Ch(s) = Chain(s). Sl st = Slip stitch.
Dc = Double crochet. Sp(s) = Space(s)
Rep = Repeat. St(s) = Stitch(es)
Rnd(s) = Round(s). Tog =Together.

INSTRUCTIONS

Make 10 with C as Color 1.
Make 10 with D as Color 1.
Make 10 with E as Color 1.

With Color 1, ch 5. Join with sl st to first ch to form ring.
1st rnd: Ch 3 (counts as dc). 23 dc in ring. Join F with sl st
to top of ch 3. Break Color 1. 24 dc.

2nd rnd: With F, ch 4 (counts as dc and ch 1). *1 dc in next
dc. Ch 1. Rep from * around. Join B with sl st to 3rd ch of
ch 4. Break F.

3rd rnd: With B, ch 1. 1 scin same sp as last sl st. Ch 2. Miss
first ch-1 spand dc. (1 sc. Ch 11. 1 sc) in next ch-1 sp. Ch 2.
Miss next dc and ch-1 sp. *1 sc in next dc. Ch 2. Miss next
ch-1 spand dc. (1 sc. Ch 11.1 sc) in next ch-1 sp. Ch 2. Miss
next dc and ch-1 sp. Rep from * around. Join with sl st to
first sc.

4th rnd: Ch 1. 1 sc in first sc. (7 dc. Ch 2. 7 dc) in next
ch-11 sp (petal). *1 sc in next sc. (3 dc. SI st in 5th dc of
last 7-dc group from previous petal. 4 dc. Ch 2. 7 dc)
all in next ch-11 sp. Rep from * to last ch-11 sp. (3 dc.
SI st in 5th dc of last 7-dc group from previous petal.
4 dc. Ch 2.5 dc. Sl st in 3rd dc of first 7-dc group of first
petal. 2 dc) all in last ch-11 sp. Join with sl st to first sc.
Fasten off.

5th rnd: Join A with sl st to ch-2 sp at top of any petal.
Ch 1.1 sc in same sp as last sl st. Ch 1. (3 dc. Ch 1. 3 d¢)
in next sl st sp between 2 petals. *Ch 1. (1 sc. Ch 3.
1 s¢) in next ch-2 sp. Ch 1. (3 dc. Ch 1. 3 dc) in next
sl st sp between 2 petals. Rep from * around, ending with:
Ch 1.1 scin same ch-2 sp as first sc. Ch 3. Join with sl st to
first sc.

6th rnd: Ch 1. 1 sc in first ch-1 sp. *(1 sc in each of next
3dc. 1 scinin next ch-1 sp) twice. Miss next sc. 3 sc in next
ch-3 sp. (5 dc. Ch 3.5 dc¢) in next ch-1 sp. 3 sc in next ch-3
sp.** Miss next sc. 1 sc in next ch-1 sp. Rep from * around,
ending at **. Join with sl st to first sc. Fasten off.
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